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PART — A

SELECTING WORDS

Directions for the following 10 (fen) items ;

Fach of the following items in this scetion has a sentence with a blank space and four words
or groups of words given afler the senlence. Select whichever word or group of words you
gonsider most appropriate for the blank space and indicate your response on the Answer

Sheel sceonding!y.

v vou to be at the party this

EVENning.

{3} look forward to
(k) hope

{c) cxpoect

{d) think

When | met John wyesterday, 1t was
the [irst Lime T him since
Christinas.

(n) saw

(b) have seecn

{¢) had seen

{d) have been secing

He  to listen to my arguments
and walked away.

{2) dcnied

(h) disliked

{c) prevented

(1) refused

The flow of blood was so
the patient dieal.

(a) intense

(b) adequate

{c) profuse

(d) cxtensive

You have never me about
YOLUT EXperiences in America,

{a) said

(b told

{c} explamed

{d) spoken

GRS-U-EDF - A

6.

Ta

8.

10.

[ always felt hungry T heard
the dinner hell.
{a) asz much as
(b} as well as
(c) as soon as

(d) as close as

Although they took cvery procavtion,
they could not the accident.
{a) deler
{b) allow
(el avod
{d) block

The ambilicus nobleman o
marry the king's daupghter.

{a) tranzpircd

(b) perspired

(c) aspired

(«} expired

The dictator of that country was a

memsier of wickedness, insatiahle in his
for blood and plunder,

(a) 1cdea

{b) wvision

{c) lust

(d) intentiom

Please don’t give me any more, | have
had

(a) few

(b)) too little

{c} Dile

{d) enough



ANTONYMS

Directions for the following 5 (five) itemsy :

13.

(c)

In this section, each item consists of a sentence with a word underlined and is followed by
four words. Sclect the word that is most opposite in meaning to the underlined weord and
ndicate your response in the Answer Sheel accordingly.

My first lecture m the classroom was a
h1asco,

fa) success

(b} jov

fun

(d} disaster

- L was indeed arduous to cross streets in

Mew Yorl.

{a) pleasant

(h] elfortless

{c) intercsting

{d) risky

Unlike his brother, he s aflable,

(2} Teserved
{b) gzullible

14,

SYNONYMS

Directions for the following 5 (five) items :

16.

17.

(e} irritable
(d)

The birth of his child decidedly proved
W be an auspicious cvent in his lilfe.

(a)
{(b)
()
(d)

The wimess corroborated word for word
the statement of the victim,

ia)
(b)
L)
(d)

loavahle

Precious
OTINGN S
nscless
unforgettable

accepted
conlirrmed
denied
repeaed

In this scction, each item consisls of a sentence with 8 word underlined und is followed by
four words or groups of words. Select the word or group of words that is most similar in
meaning to the underlined word and indicate your response in the Answer Sheet accordingly.

It is unwise 1o sever diplomatic relations
wilh a neighbouring country over small
matters.

(2)  engage

(b) estrange

{¢) cut off

{d)
Bad tendencies are 1o be countercd

by good ones until all that is evil
disappears,

fwisl

(a) opposed
(h) halanced

S

18.

teduced

(e
{d) hypassed
The police fired indiscriminately at the

crowd, killing many innocent women
and children.

(a)
(b)
{c)
{d)

continuonsly
without distinguishing
foalishly

rapiclly

A — GRS-U-EDF



19, Businessmen who lack acumen cannod 20. His candid opinions have won him many

be expected 1o be very successful. friends.

(a) fairness {a) kind

{b) - sharpness {b) courtcous
{c) boldness (e} penerous
idl rizhtocousness (d) frank

SENTENCE IMPROVEMENT

Directions for the following 10 (ten) items :

In this section, look at the underlined part of each sentence, Below each sentence arc given
three possible substitutions for the underlined part. If one of them (a), (b} or (¢} 13 betier than
the underlined part, indicate your response on the Answer Sheet agamnst the cortesponding
letter (), (B} or (¢). If none of the substitutions improves the sentence, indicate (d) as your
response on the Answer Sheet. Thus a “No improvement” response will b signilied by the
letter {d).

21. 1 disliked him not s0 much for his meanness but for his dishonesty.

(a) as for
{b} but because
(e} but duc to

(d) Mo improvement

22. He proferred death rather than imprisonment.
{a) for |
(b} to
fc) than

{d) No improvement

23, They kept the idea secrethy.

{a) =ecretive
(b} scorel
) secrctively

{d) Mo improvement

GRS-U-EDF — A 4



4.

25,

26.

17.

18.

29,

30.

e ought not to 1ell me your secret, but he did.
(a) telling

(h) have 1old

(e} having told

(d) No mmprovement

I T don’t know the meaning of a word, [ look it after in the dictionary.
{a) look it out

(L) look it L

{e) look it up

{d} Mo improvemenl

Mr. and Mrs. Kao stay in their home cvery cvening.
{a) al home

{b) inside home

{c) within their home

{d) Mo improvement

When we zaw him last, he ran to catch a bus.
{a) has run

() had rn

(o} was running .

(d) Mo improvement

She cut a sad figure in her first performance on the stage.
(a) made a sormy figure

(1) cut a somry face

{¢) cutl a sorry hgure

(d) Mo i:tnpmvcml::nt

Last evening 1 went to the optician and bought spectacles.
(a) a speoiacle

(b} two spectacles

{c) a pair of speclacles

{d} Mo improvement

I would like Lo avail a [ilteen days® holiday this summer.
{a) to avail of

(b} o aval myself of

() o avail myself

{d} No improvement

A — GRS-U-EDF



SPOTTING ERRORS

Directions for the following 5 (five) items ;

Fach item in this section has a senignce with three underlined parts labelled (a), (b
and (c). Read each sentence o find oot whether there s any ermor noany underhined part
and indicate your response in the Answer Sheet against the corresponding letter i.e., {a) or
(b)) ar (). If you find no error, vour response should be indicated as (d).

31 Foan iy il Dwill e a bard MO error

(a) (h} () (i)

q9, Assoomas  ihe iram amved  the passengers enlered the compartments : T e

mrEmeres s ——

() )] ) (d)

13 MNever lhave scensuchatown Mo emor

(a) (b) (c) {d}

14 Hc goes to his office bv bicyele covery day  No crror

(a) (bl (c) (d)

25 Far from being appreciated,  his conduct was discussed  and sharply commented
(a) (1) (c)
Mo error )

()

COMPREHENSION

Directions for the following 6 (six) ifemy :

In this section, vou have e short passages. Read the passapges and answer the iterns that

follow. You are required to select your answers based on the contents of the passage and
opinion of the author only.

Fassage — 1

We had just passed Tenall, where I roused myself in order to hear the name of the station,
As [ was falling asleep again, a violent joli shot me inlo the arms of somchody in the seal
opposite. The engine with ene wheel broken was lying across the wack and beside it was the
luggage van, Iikewise, deratled, Greaning, wheezing, gasping. sputtering in its death agony,
the enginc was like a [allen horse which, snorting, trembling in every limb, its flanks heaving,

its chest labouring, seems incapable of making the smallest effort o struggle on to its legs
AU,

GRS-U-EDF - A 0



3o,

37,

40.

The auther had roused himsell as he
wanted

fa) pet off
{h) meet someonc
() know the name of the station

{d} kecp himsell awake

The engmine stopped because
{a) the dnver had stopped il

{b) one ol the wheels was broken

8.

Passape — 2

{¢) there was a halling place

{d) there was no fuel

The cngine 15 compared to a fallen horse
bocause

{a) it was groaning like a horse

{b) it was lying across the wack

{c} it could make no offort to stand
upright

(1) it had a broken wheel

I was beginning to lire 2 lilde now. [ had been calting steps continuously for two hours, and
Tenzing, oo, was moving very slowly. As T chipped steps around still another corner, 1 wondered
rather dully just how long we could keep it up. Our original zest had now quite gone and it was
turming more inlo a grim strugele. T then realised that the ridge ahead, instead ef still
monotonously rising, now dropped sharply away, and far below I could see the North Col and
Remghuk glacier. T looked upwards wo see a narrow ridge running up to a snowy sunumit, A fow
more whacks of the ice-sxe in the firm emow and we stood on top.

. Which of the [ollowmg s the most

appropriatc description of the area in
which the narrator had been moving ?

(a) A steep l'n:ck}r slope
{b) A peak with a flight of steps
{c) A high peak covered with snow

{d} A long ridge

‘[ had been cutlimg sleps combnuously
for two hours” sugpests that

{a) the climber was unskilled in the art
of making steps

(k) he had to cut the steps out of snow
before climbing up which was
necessarily a slow process

{c) the slowness was caused by the fact
that as soun as he cul the sieps they
were again covered with snow

{d) he had to work suspended from a
ledge

41. It was wrning more into a grim

struggle” would mean

{a) that after the long cxcrtion he was
Accling 30 weak that any further
climbing meant a hard struggle with
the forces of nature

(k] that Tenzing was making the task
more ditficult

(e} thatl strong cold wind was pushing
him down from above and that he
had to struggle with the forces ol
nature

{d) that he was m a mood o give up
ultimately

A - GRS-U-FEDIY



ORDERING OF WORDS IN A SENTENCE

Directions for the folfowing @ (nine) ifems :

42.

43,

44,

Each of the following items in this section consists of a senlence the parls of which have been
jumbled. These parts have been labelled I, QQ, B and 5. Given below each sentence are four
sequences namely (a), (b), (¢) and {d). You are required to re-arrange the jumbled parls of

the sentence and mark vour response accordingly,

TFarm worlers

apend  outdoors  most of their time

P

Q R S

The proper sequence should he

(a) PORS
b)) PROQS
c) POSR
d) RPOQ s

He shuffled the papers  ina drawer logether

P

R =

The proper sequence should he

(a) POSR
by POQRS
(© PSOR
(dy RSP

Do you think  will  this soap  shrink woollen clothes

r

?
R 3

The proper sequence should be

(a) PORS
(b) PROQ S
() QRPS
(d) QPERSY

We adwiged

the hijackers to surrender  to the police  themselves

P

Q R 5

The proper sequence should be

(a) PQRS
(b) FPRQS
€y POSR
(d) RPGS

GRS-U-EDF - A




46,

47.

48,

49,

50.

Sports cars  appeal  to some motorists only  with nnisy exhausts
r Q R 5

The proper sequence should be

(a) RQSEP
(B} PSOQR
(¢) RESPQ
) PQSR

He almest  planned the codre strategy of operation single-handed
B R , S

The proper sequence should be

fa) RSFPOQ

{(by PROQ S

{c}) SQRP

(dy QPSR

She has = more  intelligence  than we suspected her to possess
P 0 L8 b3

The proper scquence should be

(1) POSR

B) PROQS

ct PSOR

(dy PORS

They should implant  in the minds of young children  sound principles

P Q R 5
The proper sequence should be
(a) PQRE
(b) PQSR
(c) RPQS
(d) PROQS

When T was a student [ Team swimming attheageof 15 of class X
L 0 R

in a government school
3 i

The proper sequence should be

(2) PQRS

) PRQS

g} QF RS
) Q8IrR

A — GRS-U-EDF
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51.

33.

54.

{a)
(b}

PART -

Which one of the following devices
changes low vollage alternating current o
high vollage allernating current and vice
versa !

(a)

Cienerator

(b1 Motor
(&)

(d} Wibrator

Transivmrmer

An optical illusion which occurs mainly in
deserts during hot sumimer is based on the
principle of

Beflecton

Interference

()
(d)

Dhispersion

Total internal reflection

At which place Earth’s magnetic field
becotes horizontal ?

(a)
(b}
()
(d)

Magnetic menidian
Mapnetic equator
Geopraphical pole

Tropic of Cancer

The speed of a car travelling on a straight
road is listed below al successive intervals
ofls:

Time (8) 0. 2

i
=

Speed (mfsg) O 2 4 6 &

11

B

Which of the following 15/are correct !
The car ravels

1. with a uniformm dcceleraton of

2 m/s.

[~

16mm4ds.

with an average spoed of 4 mfs.

a1

Select the correct answer using the code
given below :

fa) 1,2 and?3

(b) 2 and 2 only

(c) 1 and 2 only
ey <1 only

55.

56.

The speed of a body thal has Mach
number more than | is

()
{b)
() 300m's

{d) aboul 10 m's

HUPETROTIG

subsonic

Molecules of which of the following has
cage like structure 7

1. Dvamond
2. Graphite
3, Fullerenes

Select the correct answer using the code
aiven below

(a) 1,2 amd 3
(b}
(&)
(el

2 and 3 only
2 only

3 only

A — GRS-U-EDF
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(a) VTEEPERT=ATH

(b FEbE
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(b) ifsam
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 (a) T

(b) WM
(c) s
(d)y Etferas
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61.

62,

63.

i (TATE) TR T
{a) =@
(b) RS

(c) wfRezell M w (A e
TR 71 )

(d) TERTEe g B

fet A =1 el wgdl o fism
w2, i e g 2

(a) Weie®

(b wsfea

(6 e

(d) TETEERIE

TETg W, wasdl s s wegst W U
qEET TN E | TR R TR g g

g7

(a) e
WERFLGIL
{c) THTTHIE
(dy “refan

64. TAfofas 4 & =t 1 wot o0 o @=

TR T LT WAL Rl 7
(a)
(b}
()
{d)

FhA
WHC)
F55A1

FAC



s7.

58.

59,

all.

Temporary hardpess in water is due to
which one of the following of Calcium
and Magnesium 7

(a) Hydrogencarbonates

(b} Carbonates

{cy Chlosides

{d) Sulphates

Stung by hairs of nedle leaves causes
hurming pain. This is due 1o the injection of

(a) Acencacid
(h)
el

()

Methanoic acid
Sulphuric acid

Hydrochloric acid

Which one of the following cloments 15
least rcactive with water ?

(a)
(b)
(&)
()

Lithium
Sodium
Polassiom

Cesiurm

Rutherfomd’s  alpha-particle
experiment was
discovery of

(a)

(k) Proton

scattering
responsible  for the

Electron

(¢} Muclous

(d} -Helium

13

61.

fl.

a3.

fi4.

Gilass is a
(a) liquid
(b collowd
(<}

non-crystalline amomphous solid

(d})

cryslalling solid

Cell wall ol any lungus s dilferent from
plants in having

(a) cellulosc
chitin

(b]

(c] cholestorol

()} glycogen

Sleeping sickness is a parasitic disease of
humans and other animals. It i3 cansed by

{a) Histomonas
()  Trypanosoma
(c)  Angomonae

(d}

Naegrleria

Which one of the following agencies
cnforces the laws on {ood security in
fruhia ?

{a) FDA

{h) WHO

{cl PFS5EAL

(d) FAO

A — GRS-U-EDF
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(b)

{d)

F9= (TET) TF TEA aiEd W
El
trwate e § oiEida = 21 § 1 19
TATEH TR 7

(a). A
{b) AT
{c) TR

(dy T e

e T HIEAT (RBCs)

(a) =affqsm, el o s
ATerRT AR BT B

(b) =fEoFE, AR S S
wTterRT Bl 2

(c) =AfFamw affe wamhivrr St 2, g
el Gertt AT TRl Tt B

(d) . gl 7 what, Fee smmmet
EHEEIRCIRIR-
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09,
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(b
(=)
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# 7
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Tl 111

{F=rT) (4T )
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05,

i 8

L

Dengue virus causes high fever, rashes
and reduces the number of a particular
type of blood cells. Those blood cells are

(1) Momocytas

(b) Dlatelcts

(¢} Eosinophils

{d) MNeutrophils

Kidoey secretes an enzyme, which
changes plasma protein angictensinogen
o angiotensin, The enzyme 13

{a) Renin
(b) Nitrogenase
(c) Hydrolase

@

Mono-oxyeenass

Red bloed cells (RBCs) have

no nucleus, neo nutochondna and
no cndoplasmic reticulum

()

nucleus, mitochomdria and endo-
plasimic reticulum

nuclens, mitochondria but no endo-
plasmic reticulum

(d}

no mitochondria but endoplasmic
reticulum 15 prescit

15

68. According to the Census 2011, the densily
of population in which one among the
following States 15 the lowest ¥

(a) Sikkm
(B} MNagaland
() Manipur
{d) Mizoram
69. Headguarters of the World Meteorological
Qrganization is located 1o
{a) Washington
(b} Geneva
() Moscow
(di London
70. Match Li.ﬁl. I with List I and sclect the
correct answer using the cokle gix-‘m.beln:_nw
the Lists :
List1 List 01
ezt iFlace)
AL Petrochemical 1. Coimbatore
B. Aircrali 2. Pimjore
(2. Machine tools 3. Benpaluru
D, Cotton textiles 4. Bongmgaon

Cleacke !

A — GRS-U-EDF
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72.

73,

T | wiET S & w7 frefafa
T L Ta=r ifau .
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(a) TToAT BAEA]
(b} T T4 wifdy

(c) T 45 #a
(d) @Rl gemomm
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74,

6.

77,

heem wiET wE O -20, 2016 (9
zifer 20 ufimm w9 2016) S & o
e F fratates o @ B e Ay
Tl BEET 9T P

() FTATGE

() ST

(&) TTRETH

(d) arETTEET

. T, sttt T Fa whta iy vael
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1. Consider the following statements per-
taining to ColTee plantation in India !

72,

13.

(d)

L.

Meed warm and moist climate with a
spell ol dry weather during the
nipening period

. Rolling fields having good drainage

Strong sunshine over hilly slopes
exceading temperatune 3550

Karnataka is the leading producer in
[ndia

Which of the statements given abowve are
correct !

(a)
(b
(&)
(cd}

| and 4 only
I, 2 and 3
Jand 4

1,2 and 4

Dr. Urjit Patel, whe has been appointed

recently as Governor of Reserve Bank of
India, was holding which posihion
immediately prior o this appointment !

(a)
L)

Chief Economist, IMFE

Deputy Governor, Rescrve Bank of
India

Chiel Feonomic Advisor to the

Government of India

(c)

Professor of Economics al Harvard
Universily

(d) |

Who among the {ollowing personalitics is
NOT a Governor of any Indian State ?

fa) WNajma Heptulla
{b)
(c)

Eam Nath Kovind
Acharya Dev Vral

Arvind Subrainaniam

T4.

ke

T6.

T7.

Which of the following cricket {eams was
defeated by India to lift the Women's
Twenly 20 Asia Cup 2016 7

{a) Bangladesh
51 Lanka
Palkistan

(e}

(01 Afghanistan

Which one of the following was the
venue of 2Znd BRICS Youth Summit
of the Ministers, Officials and Youth
Dielepations 7

fa) Wew Delln
Klurmnbai
()

(cl}

Shillong

(ruwahati

Which one amoeng the following States of
India has recently proposed Lo frame the
first Internal Security Act to deal with the

challenges of terrorism, insurgency,
communalism and caste violence 7

(#) Maharashtra
(b) Ciujarat

(c)
(d) Chhattisgarh

Littar Pradesh

The Worlkd Humanitarian Day is being
observed every vear om which date 7

{a) 24 Qctober

(b) 19 August
{c) 10 December
id) & March

A — GRS-U-EDF
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78,

79.

Surge pricing takes place when a service
provider

(a)

rasses the price of its prxduct or
service as demand outsirips supply

(b)

follows preset prices immubhe to
demand and supply dynamics

fixes a minimum prce lor its services

(o)

(e}

fixes an average price on the basis
of transactions camiwl over a day

By fulfilling which ol the fellowing
conditions can a politcal party claim the
status of a national party ?

|. It secures al least six per cent (6%)
~of the valid votes palled in any four or
more states, at a general cleclion 1o
the House of the People or, to the
State Legislative Assembly

2. It wins al least four seals in the
House of the People from any State
or States or wins at least fwo per
cent {294) seats in the House of the
People (1.c., 11 seats in the existing
House having 543 members), and
these membus ae elected from at
lcast three dilferent Stales

The party in question has got
recopnition as a state party in at least
two stales

'_ul.?

4, It must have its headguarters m
Mew Delhi

19

&i.

81.

Select the correct answer using the code
given below

{ay 1,2 and 3

(b} 2 and 4

ic) 1 and 2 only

(dl 1,3 and 4

In its emphasis on cohancing human

capabiliies, which one among the
following does NOT figure in the Twelfth
Five-Year Plan !

(a) Life and longevity

Education

(b}

Delivery of Public Service

(o)

{d) Skill development

Which one of the following is NOT
a tarpet of the 12th Five-Year P'lan ?

{a) Real GDP Growth Rate ol B per cont

() Agriculture CGrowth Rote of 5 per

cent

{c)

Manufacturing Growlh Rate of 10
per cent

(d) Increase in green cover by | million
hectare every year during the Plan

period

A — GRS-U-EDF



82, Pt A sm T et A 2 7

B3.

() 3= & sttimmms =7 = A Bl E, @
& A ] el # Fer fom e o
H L AR I S0 ) s

)
B

(b} (%41 o=t = ama § 3fy == &
T amsss s SR AT SO
e s arfen wey @

{';-:'::I ﬁ:‘ll &'ﬁ-{ ﬂi.:l-i ﬁ o e | E:‘]|r||.-|_|&ll|| EFI’
WeH, TR A TR EE T &

(d} == TEHE A EE A S e
LR T 0 S 3 M )
FITT H WEE, Wl E9 IEEH]
9 F T = e G faem e g,

Frfem wgemer 2

BT F T qfeade finn fae, 23 s
TR T HERET W ASA R A0 S S
£ AT = 99T TRl Alhr R

(a) TEfirse Gy e
(b} T =T TR TR
(e} AT T TH F

(d) 44

84. T T3 v =on gRy 1 w1 g A A

il = fom fomamas freg w9 =0 =0 2o
7

s |
=
R
--\_
—I—‘_'-
—_
o

GRS-1-EDF - A

85,

&,

frtafim g A s m s e 2 7
(a} =13 @ ¢35 W BT FA
9 v W 2R 8

(b =25 3l =8 s o EFmEaE T £
A At B9 2

(2} ¢=3s 3R ¢=7s T Gl =7 i
e Aiam g e

(d} r=4s &R ¢~ |05 T AR
EIELE e e et

R A I o i el
A1 wiemt & A 58w we an wdi a=

HEN T T

| T
(7) (Fu=T)
. i ¢
TR _
| (7T - ) . R i
B. =T ERgldi]
¢, [ = 1. MFEEH
e :
A 14 {:_' D
[ﬂ} 4 l | 3
(b} 4 1 2 1
{c) 3 1 2 4
(d) 3 2 1 4

ushid wn o |ef| TER R FEwl @ i
2003 & | FEAt o Twmt wng & B & o
whaarg @ wel 4w, Fefatae 8 o w59 @
g7

fa} 542

(b) 1002

{g) 200

() 400



82, Which one of the following statcments is
NO'T comect ?

83

84.

{a)

(k)

(d)

In . the i:nnn;ll_m;:l:ii‘nl mode of trans-
l[erence of heat, the meolecules of
solid pass heat from one molecule 1o
another without rmoving Troo theer
posilions

The amount of heat regquired 1o raise
the temperature of a subsiance is
called its specitic heat capacity

The precess of heat transfer m higuids
and gases is through convection mode

The process of heat transfer from a
bady at higher temperature to a body
at lower temperature without healing
the space between them is known as
radiation

The amount of heal required to change a
liquid to gaseous state without any change
in temperature is known as

(a)
(k)
()
(d)

specific heat capacify
mechanical equivalent ol heat
latent heat of vaportzation

quenching

The following figure shows displacement
wersus fime curve for a particle executing
strmple harrmonic motion :

I '
A W
E_'II \ J'II I\I' .I|I | Il'n
a :!III dllll I--!llllll Irﬁ:|'IITin1i: [:]l:]

] i i !

21
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80,

Which one of the following statements
is correct ?

(a)

Phase of the osmllating particle

igsame atf= lsand¢r=35s

(b}

Phase of the oscillating particle
Issamc att=2sand f =835

(<)

Phase of the oscillating particle

Wesme al i = 3sand & & 75

(d)

Phase of the oscillating particle
isamcatr=dsand £ = 105

Match List T with List Il and select the
correct answer using the code given below
the Lists ;

List!
D iveye)

A. Hypermetropia L.

List [1
(Remedy)

Concave lens

B. Preshvopia 2. Bilocal lens
(2. Mvopia 3. burgery
D). Cataract 4, Convex lens
Code .
A B C D

Wy 4. 2 1 %

(b 4 | 2 3

€ 3 1 2 4

B 3 2 1 4
A circular coll of single tum has a

rcaiatance of 20 £2 Which one of thoe
following 1z the comrect value for, the
resistance  belween the ends of any
diameter of the coil 7

{a)
{b]
{e]
{d)

50
10 €2
M0 2
40 £2

A — GRS-U-EDF
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(b} T
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(d) redA
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87. In a solenoid, the current flowing through

85.

89.

the wire is [ and number of turns per unit
lenpth is . This gives a magnetic Neld &
inside the solenoid, If mumber ol turn per
umit Tength is increased to 2o, what will be
the value of magmetic field in the solenoad ?

fay A
() 28
) B/2

() Bi4

Which one of the following statements 15
correct aboul the mapgnification of an
optical microscope 7

(a) Magnification increases with the
increase in focal lenpth of eyepiccs

(b) Maymilication increases with the
increasc in focal length of objective

{c) Magnification does not depend upon
the focal length of evepiece

(d) Mapnification decrenses with the
increase in local length of eyepiece

A homogencous mixiure conlaing lwo
liyuids, How are thoy soparatcd ¥

{a) By filtatiom
(b} By evaporation
{c) Bydistillation

(d) DBy condensation

.

41.

92.

Which one of the fullowing elements forms
lighest number of compounds ¥

ta) Ohygen
() Hwdrogen
(e) Chluins

{d) Carbon

Which one ol the followmy elements
corrodes rapudly 7

(a]  Aluminmum
) Iron
{c) Zinc

(d)} Silver

20 g of common salt is dissolved in 1580 g
of watcr, What 15 the mass percentage

" of the salt in the solution 7

{a) 3%

ihy 9%

{c} 10%

(dy 15%

A — GRE-U-EDF
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93. The wvalency of an element depends

94.

upon the

{a) total number of protons in an atom
(bl mass number of an atom
(¢l total number of neutrons n oan atom

(dl  total oumber ol electrons in the ouler
most shell of an atom

Match List I with List I1 and select the
correct answer using the code given below
the Lists :

List1 List I1
(Noble gas) (Cise)
AL Argon [. Tn lights for
advertising display
B. Mcon
2. Adrpmt landing
; lizhts and
e ey lizht houses
I, Xenon 3. Lightin
photographer's
Nash gun
4. In tungsten
filament 1o last
longer
Corde ;

—,
1=
L —
453
| %]
P

25

93,

D6,

97.

98,

Colour vision in human eves i1s the
function ot photoreceplor cells named

(al Hods
(b} Cones
(¢} Blind spot

(d} Fowven

Which one of the following statements
15 NOYT correct 7

fa} All proteins are enzvines
(b} Mosily enzymes are proteins
fc}  All fats are energy rich compounds

(d} Glucose is a common carbohydrate

Sugarcane is one of the important cash
crops in India. [t 13 grown to obtain

(a) Htarch
(b} Glhucosc
{c) TFructose

{d} Sucrose

The colouwrful part of the Sunflower or
Marigold plant is

(2) Tlower

(b Inflorescence
{c) Fruit

() Seod |

A ~ GRS-U-EDF
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99,

100,

101.

Match List [ with List 1l and select the
correct answer using the code given below
the Lists

List 1 List 11
fMinerail fLeading Stare)
A, Manganese 1. Unarakhund
B. Ciypaum 2. Kamataka
. Limestone 1. Rajasthan
1. Magnesite 4, Odisha
Clae
A B C D
Wy 1 3 3 -4
B L i w3
{c) 2 3 1
@ 5 W1
Which one among the following is the

correct order of liger Teserves sitmated
from Nortn o Aouth in India 7

{a) Corbett — Simlipal - Sariska —

Penyar

{b) Perivar Sarisks — Similipal
Corhert

e} Corbett — Sariska — Simlipal
Perivar

(d) Periyar Simlipal — Sariska —
Corbetl

Which of the following are correct with
regard w Indian Monsoonal Rainfall ?

l. Largely governed by the mp.—_-.gm
phical features

2. Regonal and seasonal variation in the
distnibution of rainfall

3. Heavy downpour resulling in
considerable nmoff

4, Begmning and end ol rain s regular
and on time

27

102.

Select the correct answer using the code

piven helow ;

{ay 1and 2 anly
(b} 1,2 and 3
fc} 3 and 4 only

(d) 2.3 and 4

Match List [ with List T and select the
correct answer using the code given helow

the Lists :

List |
(e of olimate)

A, Monsoon with

shorl Dy

Season (Amw)

B, Cold Hunud
Winter with
Shoet Surnrner
(L)

. Monsoon with

Diry Winter
{Cwg)

. Monaoon wilh
Dy Summer
[As)

Ciode

A B
{a) 3
55 Y S,
e 2
i 8- 3

List 11
{kie)

. INitar Pradesh

and Bihar

. Tarml Nadu

[ Inasc

. Arunachal

Meadesh

Eerala and
Kamataka
Cloast

A - GRS-1T-EDF
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105,
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T IAAEE A9 oh el ol T T
10 cm & 20 cm % | 1T T AGSAA 1S

1-5% |29 e ) AT (ETEATES T H)
1 BT 7

(@)

(k)
fey +230D3

(d}

+75 D
5 1

F5-0 D

GRS-L-EDF - A

28

.lﬂ?.ﬂﬁgﬁﬂ?ﬁﬁ?}ﬂ'ﬁﬁﬁﬁﬁmﬁwl{Lﬂ?

T HUE WldE F S wE TR | A
it T 3 = w avEE e ge e
Ale ] 2, 000 TE TR, ] A
AT SR O TSR] T WA W2l 7

(a) 7w gl 2
{by 7= = T
(6] T3 \iEe = 2wt

() TET & alyE g T

108, e % & s o s ofor fi s

109,

adl B, S g &8 7
{m) TR €3
(b WEE=

(c) Taafar (am=)

(dy =mi
ferper-redt el & w=m § Featafan # 5

HH W FEA TR S
(a) W g A A

(b} T TR HTEIA] H HETE TR
=

L=

oy o Rrees 2

(d) =TT EEE W Serwg (Al R HE AeiAr
o g 2R 8



103. Which one of the following Himalayan

104.

105,

106A.

rivers does NOT orzinate from across the
l[itr]u]ayuh s

(a) Indus
{b) Satluj

()
(d}

Cianga
Brratnmapulra

The Headouarters of Eastern Railway
Zome of Indian Railway is located at

(a)
{b)

Bhubaneswar
Eolkata
(¢} Hajipur

(d)

Growahati

Which oite nmong the fellowing counirivs
15 the largest trading partner of India in
external trade for the year 2015-2016 7

(a)
(b} United Kingdom

[Inited States of Anerica

(c) Tlnmited Arab Emirates

{d) China

The radi of curvature of the faces of

a double convex lens are 10 c¢m and
20 cm. The refractive index of the

glass 15 1-5. What is the power of this
lens (in units of diopoe) ?

(a) =75D
(by 75D
(0} +25D
(d)y 150D

2%

107, The time period of a simple pendulum

108,

109,

miade using a thin copper wire of length L
15 T, Suppose the temperature of the toom
m which this simple pendulum is placed
inereases by 307°C, what will be the efieg
on the lme period of the pendulym ?

{a}  Twill increase slightly
(b} ¥ will remain the same
(e} T will decrease slightly

{d) T will become more than 2 limes

Which one of the following physical
quantily has the same unil as that of
pressure 7

Angular momecturmn

{a)

Stress

LY

Sirain

(<)

(d) Work

Which one of the following slatements
18 correct with regand to the material
ol elecirical insulators 7

(a)

They conluin no clectrons

(b

Elcetrons do not fow easily through
therm

{c) They are crystals

(d} They have more number of electrons

than the protons on their surface

A — GRS-U-EDF



110, Brefitas sthr ot § 9 fare v

111.

112.

T AR WEHE & Ahre A

A #

(@) TAE # IEH ATET SR el

(b saehl 7= W

(o) uferero= # "yt wgrd whT Wi IS
=

(d) =eiR & AT wld & HER W

T ETeAe & Had W e E

FT AT A El A §

(a) A Aoy A g F 0T =S ERE A

by Ty =it S aft Th o SR A

SR

S WHTY H WAlan AwwiH =

iy Toorarar & o AREMET 7 AR

T i

() TR AT BEA FhT seEEeas
o1 T el H L

(o)

I e VI 1 B el I
sfie afami & i fad 78 F2 w1 A =
EI IR A0 ;
il AT
(WA & AT {Far)
= T )
A, 52 7t HTEA I AAGT 3T
arftrfm, 1985 219 8w
L T e
B, 72 =0 49199 T
arfirF, 1092
2. firem =3
¢, 61 T aEiEA AT
AtaFEE, 1988 3 emdl e
0. &6 =7 WeTEA 4, =H-TH H
FrfHaE, 2006 IR %
el [T

GRS-U-EDF - A

30

113.

114.

F
A B € D
fay 4 1 3 2
by 4 3 & 2
ol 2 3 1 4
@ z 1 3 4
1857 & Tag = efafes & 8 5 &

U wE AR A7 Y

(a) aE amATs SRRt A A A
fpriare #T8 & U9 W gHe f)
it =1 =0f B o

by - ufaemE f = I = g
T, 23 94, 1857 =1 fafza s

(¢ Tarfzar amam ¥ AR WA F FEAm
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o T T A A AR TR
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Freyffir 3t 3 a1, W Seimm! & UETEE
witir &t wa T wEt 4 2

(a) Tl =medi @l &, whimg =1 &
geen & T fafewr faier @
witrEg T =t farfew wmo & weam
I Frm o amabEr @0 A sk
Tz gt @

afmg Tew =t gdd & A T
fafaar dmrma &1 AEEEDEA] % Y
HHTT TR A B 4

e farfecar s o arefer o wifisig
i Tt Zo T & i meftan R
Eo e |

(b

(c)



110,

111.

112,

Which one of the [ollowing physical
quantities does NOT affect the resistance
of a cylindrical resistor 7

(a} The current through it

() [ts length

(£ The resistivity of the material used in
the resistor

(e} The area of cross-section of the
evhinder

Which one of the following statements

regarding King Krishnadevarayva is NOT

correet 7

(a} Hec was a preal scholar of Telugu
and Sanszknt

(b) Foreign travelless Paes and Nuniz
visited his court

(c) Parbosa praised him for the preat
justice and equity prevailing in
his empire

(d) He wrote his  magnum
Amubilamalvada in Sanskrit

apus

Match List T with List 1T and select the
cotrect anawer wsing the code given below
the Lists

List T List 11
{Amendment to the foubfect)
Constitniion of India)
AL S2nd Amendment 1. Reduction of
Act, 1985 voting age
o Agps from 21 o 18
B. 73rd Amendment ;
Act, 1992 2. Rightto
Education

. &lst Amendrment

3. Panchavat
Act, 1988 i

Rag
1y B6th Amendment 4. Disqualifica-
Act 2006 Lon on
grounds of
defection

113,

114,

Cinle
A B C D
(a) 4 1 3 .
(b} 4 3 ! 2
ey 2 & g

o A N L

Which one of the following was NOT
a cause of the Revolt of 1857 ¢

(a) The mmour that the British had
mixed the bone dust of cows and pigs
nte the flour being sold in the market

{b) 'The prophecy that British rule would
come to an end on the centenary of
the Battle of Massey on 23rd June,
1857 .

{cy  Popuiar discontent with Tatish rale

{d} The prophecy that the end of British
mile would lead to the end of the Kali
Yuga and the return of Ram Rajya

Which one of the following was NOT
a feature of the Subsidiary Alliance of
Lord Wellesley 7

(a) The British were responsible  for
protecting the ally from any extémal
threats

(b) AN intemsl threats were to be
nandled by the ally alone, with no
help from the British

(¢} The ally was w provide resources
for ‘mmintaining a British armed
contingent stalioned in its temitory

(d} The ally could not enter into any
aprecnent with other rulers without
the permission of the British

A — GRS-LU-EDF



115,

116.

TET 1A A & iy gAbTT i
e wfl & T S T T w0 99

AL it
{ v (mfeeT)
A, T |, =5
B. WA=EE 2. WEteraa
C. HTATHRIZ 3, SN
1, =TT, 4, TR
T
A B C D
(@ 3 4 1 2
{2 | 4 2
o 1 4 3
AN R

wIid o Wi Wi g, et 6w
wHHE T

|, =g &I wrEt

2. HER & FE

3. AU

4, F=AT F AR T

A il W FE W oW w1 §E T
0w '

(@) 4 | 3K 3
by Fme 2 M4

(¢) e 1, 2 # 3
() 1,2 3 3% 4

GRS-U-EDF - A
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117.

118.

119,

Freafarfiag & & =t @ /8 & Wi 7w
T & for Wl wmm T &/ S
I

|, wES AT A
i.ﬂﬁ—ﬁ'ﬂﬁ;:{'ﬁﬂ

3. HEAETG — TR &

4, Tl - T E

T fE o g & TEe R OEE TR
=l

(a) 1 2% 3

(b} 2 3R 3

{é} 1,2 il 4

(d) == 3

Frforfias # & few owg 1 39 wvEe 1
FiE Y T 2 7

(1) HIEETE

(b) WS

{c) Az

Ay famr

Hi wifam R T W W e A TEER

o A e O e

frfafar A § S g1 S TR R 7

(2) TE T I A, G ARG H AR
Gk

(h) &4 & @2 B, g9 AR T BT
Ear @

(c) % & F= 7 |/ A H TR
w8

(d) T H W W OO STH HT ST

I 2



115. Match List 1 with List 1T and select the 117. Which of the following repions is/arc
correct ansgwer using the code given below NOT known for cotton-textile industry 7

the Lists : ;
i. Mumbai— Pune region

List ] List [1. ; ; :
(Place) (Mineral) 2. Madurai — Coimbatore region
e . Copper 3. Dhanbad —JH'['J'ISJ':ICd]iIlII rCEion
: 4. Indore — Ujjain region
B. Malanjlchand 2, Petrolecum
' Helect the correct answer using the code
(. Kalakot 3, Zinc gven below : '
D). Zawar 4. Coal {a) 1 and3
Code: - {bY 2 and 3
e d T 2 (d) 3only
(h) 3 1 4 2 118. Which one of the [ollowing States does
MNOT have the Headquarters of any
() 2 1 4 3 Railway Zone ?
il R . () Tharkhand

2 ; ; . (b} Chhattisgarh
116. Which of the following are the major coral

reel areas of India 7 {c) Odisha
1. Gulf of Kachchh (d) Bihar
2. Guit.of Mannar 119. Suppuse a rod 14 piven a negatve charge

by rubbing it with wool. Which one of
the following stalements 1s correct in
this case 7

3. Lakshadweep

4. Andaman and Nicobar [sfands

Galuit the bt SR e L {a) The pusilive charges are transferred
Select the correct answer using the code B il v :

ziven below ;
{(h) The positive charges are transfemed
(a) 1and 3 only from wool to tod

(b) 2 and 4 only ' (e} The negative charges are transferred

- from rod to wool

{cy) 1,2 and3 only
{d} The negative charges are fransferred

(d) 1,2, 3and 4 from wool 1o rod

33 A - GRS-U-EDF



120, 2l () 7 P AERT () F == T

gayy, Fefeiad & & a7 ar 2 7

(a) = e
by w=2mf
foy = Readw

{d) f=2m

121, v Tafvas wfaeel & G SfEa grmmt

s FRAEET ST, SR T Searh
waE 2 | GiErgy Feue 4 FaEr 1
TleETE w1 e 7

{a) 574

1 301

.{uj. 273

(dy 232

122, TE TEiE it # g o W & =

T ] HAT L@ 20, Tl | A
T = T =, T HeE T-aet T oA
AT TET 7

(a) FET AT TN

(b} FT1 & s

(c) 3y =1 =

(d) ﬂfﬁﬂﬁﬁffﬁrﬂﬁqw%‘rw

GRS-U-EDF - A
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1
,.
T W FYH TE B (e gdtE] W 2R

A e 2) 7

123, day 7= 92 % o R 8 2

{a) T G, TeEE =R & A,
g e gwat 8

by Thr G, geAl i ae W st 8

(c) Tl G =7 wghr Fas a9 s
2, 5 21 A T H T, g

(@ T G v At s

124, 3 F1 79T 59 T WE TOFE T H

wiaars gaf gidl & 7
() T wEl T 9 ST 2 2
(b) A arfirs e St w8

(v) T T WL EAT AT WA S0 WHE
=T 2

(d) 7T S TR IR O R A WA B
% i

125, vzin &

(a) uw g

(b) T HEW WM
(¢) TF TR

() T AT



120.

121.

122.

Which one of the following is the correct
relation between frequency fand angular
frequency o 7

{a) f=nw
(h) w=21zf
{c) f~Z2ov'm

iy F=2mw

A Kelvin thermometer and a Fahrenheit
thermometer both give the same reading
for a certain gample. What would bhe
the corrésponding TI:H.:[]{TIE m g Celsins
thermometer 7

(a) 574
(k) 301
{c) 273

&y 232

If the potential dilTerence applied to an
X-ray tube is doubled while keeping the
separation between lhe filament and the
target as same. what will happen w the
cutoelt wavelengih ?

{a) Will rcmain same
() Will be doubled
{c)  Will be halved

(d) Will be four times of the original
wavelength \

123 Which one of the following statements

: E : e iy
is true for the relation = 'i 2

7

i
(ANl symbols have their usual meanings)

{a} The quantily G depends on the Jocal
value of g, acceleration due o gravily

(b) The quantity (i is greatest at the
surface of the Earth

{c) The quaniity G is used only when
carth 15 one of the two masses

{d) The quantily G is a universal constant

124, Why 15 1t difficult to measure the

coellicient of expansion of a liguid than
solid ?

fa) Luqds tend to evaporate at all
lemperalimes

{h) Ligquids conduct more heal

{c) Liguids expand too much when
~ heated

(dy Their conlamers also expand when
heated

125, Radon s
(a) an merl gas
{b) an artificial fibre
() anexplosive
{d) ametal

- A~ GRS-U-EDF



126.

127.

128.

129,

afdar drar &1 Tl AT #491E
(a} Na, 0O,

i} MNal 0,

(¢) CaCO,

{d) MNa(Ll

Fr=frfas & & 919 w1 e, dfae-aE
(v dfi ) ¥ e g g

(a) el

(by ()

{c) el (dwrEe)

d) o=

ki e e O e R e

8w, FefEfag R g aWE 7

() s fire
(b) AR w5
{¢) 7 e

(d) e

i1 T o @ 71 Trrtrertias § 8 whi=

AT HE AR B 7

(a) T ET, W A o A e

wiem == wem # ogaEel A s

AgETar wen il o

e 1 T a2, waE o wed @ T,

a1 ¥ T 9

(c) T B S 41 4T, FeAA o wEE
& T O e & 920

(b}

()

STTRTE =T FhT 1 T T =]
o

GRS-U-EDF - A
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36

130.

131.

131.

W TR Femle Eﬁ'qmﬂgﬁ;}'m—ﬂ
i e s & 7

(a) =@ s & i 7 T e 2
fepamaft

AR IFA 5 410H, FETe T AT T
Heea gl ST FTOR o1

(c) % iter FE Ear & =9 1t

qT

(k)

qra & Tafire et § a8 9HAER
ol & wwE o=y # M .

Foefarfiam © & = = Bésa Raemsa

ATt w1 ey = S E 7

(a) HEEHT T TH SEEA AR o

qe= T T W

e =hmE TET gatds e o

bt = 4t TR T g s

T 3 T, HieA a2 O

IGRELE

{d) T e A el $ilL s A
FRE I

e ¥ ® wm oo uwwm R,
e P et 1 B e B 11
(2) THEA T 4 T e w1 96 S
=g & e 1 HaEr = |
15% o TRfe = e fafear O
ey it afafE o wm, =it s
B 9T WA el {5 S

(i)

(k)
()

1)

(e} Fmfon s 5 onfefeafosht =1 s
= fem

Wy e R = m owse el
T oA ATARE SRS
qEE deunEl @ AR, TR T
ST =T A o = e '

HeaT et 5




126,

1279.

128.

129,

The chemical name of baking soda is

{a) Na,COy,

(b} NaHCO,

{c) CaCO,

id) HaDEI

Whirh ane of the following elements is
used in pencil-lead ?

(a)
()
(c)
(d)

Line

Lead

Carbon (Graphite)

Tin

Who among the following is one of the

authors of the book “Philosophy of the
Bomb ™

{a)
)
()
(d}

Bhagat Singh
Jawaharlal Nehru
Surya Scn
Yashpal

Which ol the following statements about
the Chittagong group is NOT comrect 7

{a) Ts membership included a larpe
number of youth including Ganesh
Chosh, Lokenath Baul and Anant

Singh
{b)

Itz leader Surva Sen had been a
lawyer in Dhaka before joining the
group

{c} Surya Sen and his group were closely
agsociated with Congress work in

Chittagong

{d) This group had prepared an action
plan o occupy the mmouries in

Chittapong

37

130,

131.

131.

Which one of the bllowing was a

significant feature of the Quit Tndia

Movement 7

fa) Women did not play an important rale
in the movement

ity

(b} MNasik Maharashira was an
important regional base during the
moreEmeEnt

(¢} Tt was murked by onti-zamindar
violence

(d) It was marked by the emergence of
parallel governments in different
parts ol Trdia

Which one of the following charcleristics

does NOT deseribe the Khilafar mowve-
ment 7 :

{a) Mahatma Gandhi sought o link it to
the Mon-Cooperation maovement

It was not supported by the Congress
It demanded that the Turkish Sulian
must retain contol over Mushim
sacred spaces in the erstwhile
Chiloman empire

It was led by Muhammad Ali and
sShaukat All

(L)
()

(d)

Which one of the following was NOT
a feature ol railways in colonial India ?
{a) The main purpose of the setiing up of
railways in India was to serve the
interest of the empire

British capital investmenls werc
invited with 15% guaranteed interest
to be paid il necessary from Indian
TEVEMICS -

The comsiruction work distarbed
eeologmy

The construction of the railways
was planned. m such a way that it
connected the interpal markets with
the ports, but provided no inter-
connection belween intemal market
QItes

e}

(c)

(d)

A — GRS-U-EDF



133,

134.

135.

136.

loo4 # ame Famw & wR d fEw
Tttt wemas & Fefafas oo =t 7
Yy T T A | A
fafim Tt o o fg=e (ge i T R
#tT g ST TR TR

(a) 0 AT

(Lo B P O et

{c) #E

(d) ¥ FREERE B

ATAd, 1038 it fned ae] T W
ey o 7

{a)
{)

TETERT T
EEAATE G
(c) T WG

(d) STl HE

oty s sstee & e, e lafam 1§
7 frm fomme 3 wEm w wEdT wE
T 7

{a) HHTE

{c) A=,
d) fEamEn

Frggdl SRufrm & fEw oud gl R

i gt ux R, Feafafea a2 7

(a) T TeETa e it A
g o wEg o

(by =8 T T 7 e g

() R Tagam ar fF fenfat & aa 4
ger= Aur # g i w b
T ;

(d) T Tt weslos @9R W OUF
e AT S T TH T (T

GRS-U-EDF - A
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137,

138.

139,

ST & R TeEEN A
B o wem | o el g % AW R
wTeTHE faar gy 7

() g

(b AT

(c) TEFE A
() yeomg FiET

e # e =qds TEEE @ el
B4 m ave At g1 & e 4w
v R 7

() Toeell — Sl

(b) etenrE — Fad

(c) e — R

(dy e -

o 1w g E o Rl Hif
T R | B e B e A R M
HTE_'ET g _ﬂﬁ'q -

=il E
(FETEET (ZaTETm)
AT )
A AEHA 50 . st
HH1EA e
B. TERAH
i = R R L e T
KPR 4, Wt

AT HETH
D, 3P

e r. 5
=¥ HIETIE HE

e
' A B C D
(a) 3 2 1 4
by 3 1T 2 4
(¢} 4 1 2 3
dy 4 Al | 3



133. Which colonial administrator made the
following declaration about the partition
of Bengal in 1904 7 “Bengal united iz a
power, Bengal divided will pull in difTerent
ways, That is perfectly true and one of the
tnerts of the soheme™

(a) Lord Curson
(b} H. H. Risley
(e} Tord Minto
(d) Sir Lancelot Hare
134. ¥Who launched Lhe_ﬁard:ﬂi Satyapraha on
4t_i1 February, 1928 7
(a) Mahatma Gandhi
(b} Vallabhbhai Patel
(¢} Rajendra Prasad
id) Kalyanji Mehta .
135. Which one of the following Princely
States did NOT support the Congress

during the course of the Civil Dis-
obedience Movement 7

{a) Bhavnagar
() Mysore
{¢) Junagadh
(d) Kathiawar

136. Which one of the following is a Teature

aof thought and philesophy of the
Kandukun Viresalmpam 7

fa} He believed that science and morality
were unconnected o tuth

() He believed m universal education

(c] He believed that language had no role
i inculcating morality in students

{d) He did not attempt to build a national
consciousness on a cultural base

39

137, Name the calligrapher in Akbar’s court

134.

139.

whio was honoured with the bfle “Zamin
Katam' or Cyolden Pen

fa} Abul FFazl

(b} Tansen

() Muhammad [Husavn
(d) Muohammad Kasim

Which one of the following sections
of the Golden CQuadnlateral Hishway
im India 1% the longest in terms  of
route distance 7

{a) Delhi—Kolkata
(b1 Kolkata — Chennai
(£) Chennai — Mumbai
() Mumbai — Delhi

Match List I with List Il and select the
coirect angwer using the code given holow
the Lists

List]
(Classification of

FENOLFUES]

List 1
(Example)

A Basic 1. Hydel power
inexhaustible
TEROUTCE 2. Coal

B. Conventional
fum-renewable
resource

3. Solar encrgy

4. Matural gas
. Non-conven-

tional rencwable

resoulce

. Sonm-convenlional
non-repnewable

IV H gLy
Code .

A B C 1

£ R L A

{hy 3 1 2 4

(e} A N

idy 4 2 l 3

A — GR5-U-EDY



140.

142,

gl 1 g 1% e gt fif
i Ffal & T g e v
HE gae T

Rl AT
(afrst ) (=)
A, e 1, s
B. T 2, T
C. FHHAT-FIE 3, HETTH WaEl
D. Freee 4, AR
E!LE =

A, B C D
B & & 2 9
G L. 2.3 W
(c) g . & .
i 4 ‘2 .3 .9

(2) 49T& He WAl

(by #If% GO Haa

(c) T&d A

() sERar TTEATT

aft wr s wEl Rty seadAis

A 3/2 3R 4/3 8, T w AL A A
WeTHl s S T SeETd Adr g 7

(8) 3:4
(b) 4:3
e} &:7
{dy 8:9

GRS-U-EDF — A
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143. T G itz e Tamey e fen

a At mTE B b R, % Y 9 e i
AT+ TETE | H e gl W e
o K H =gy war 2| =y Hee 0,
frefiafaa 4 4 ol4 o wye wdl € 7

(a) =0 % f0 (F®l) a<r<h
() E=0 5 B (gnd) roo
(v) E=gldmer % Mo (and) a<r<h

(d) E=gimsa & g (awd) r<a

144, Trefertas a0 frew i

. femm

2. TFAEETE

3, WH] R weER
4. |

A = T T (2011 Ft A« &
AR L) T TS <Rl ST o Wi
HTHTE W% I el o |El AKE T
fraffam A A AT s 7

() 3—-4-—-1-2

by 4 —2-1-3

.{G','I3-4 d=1

d) 2-3 -4 -1

145, =T T & wE@F Aty # ¥ 28

27

() S EIHE STTRH
(b} ST e

(c) &I T

(d) TEFTE T



1410,

141.

142.

Mateh List | with List I and select the
correct answer using the code given below
the Lists !

Liat | List IT
{Mineral fotare)
deprowit)

M Grypstim 1. Chdisha
B, Granlate 2, Chiarat
is : <l gL ey

. Fluorspar 3. Ammnachal Pradesh

D). Mickel 4. Fajasthan
Code :
A B € D
@ 1 3 4
157 S R S T

c) 4 3 2 1
My 4 ¥ 3 "2
Which one of the following pairs of

Trike and State 13 NOT comectly
matched ¥ -

{a) Tham Madhya Pradesh
{by  Adi Arunachal Pradesh
(¢} Irula Kerala

(dy Shaharia Rajasiban

If the absolute refractive indices of plass
and water are 3/2 and 4/3 respectively,
what will be the ratio of velocity of hghl in
glass and water 7

(ay 3:4
(b} 4:3
(o} B3
d) §:9

41

143.

144,

145.

A positive charge +g is placed at the
centre of a hollow metallic sphere of inner
radius @ and outer radius b. The eleciric
field at a distance r from the centre is
denoted by & In this regard, which one of
the following statements is correct

fa) F=0 for a<r<h
b E=0 forr<a
(¢} £ =ginmer fora<r<b

(i}

E=gldmsae forr<a

Consider the following Indian States :
l. Bihar
2. Rajasthan
3. Jammu and Kashmir
4. Harvana

Which one of the following iz the correct
ascending order of the ahove States
uon the basis of percentage of Suale’s
population to iotal population of India
{bascd on census 2011) 7

fa) 3-4~1-2
i) T P G PR
{c) 3
1 | e P 2

B, TR

Who amonyg the following was the author
of the Badshah Nama ?

(@)
(k)
(e}
(d)

Abdul Flammicd Tahkor
Abul Faxl
Shah Jahan

Saduliah Ehan

A — GRS-U-EDF



146,

147.

148.

Feleqt Hiewl & @ |, Frekies A 8

a1 awe we wE 7

(a) TE S AT HT A AT et F
uy ferg ar

G ol B e ol B e S e
§ T TH WAL W UH AL
i T T =1 st
,ﬂﬁ'{'E“ WAAE AT qe R,
BT =1 T 5 e T s

(k)

(c)

(d) 1585 ¥, W WHET F1 TG
waede faedt & fasent | et

=i

et geE g wnE i A, B b,
Fretferfias # # frg o= & it /31 7
{a) CERC |

(k) FTH

() TEamE

(dy =R

UFE T Iiiem! & gegat o, frefafaa d g

oI -

() fbrr-werr S 3 el % T anfi

wler vy fawhm =

(hy wfimm & W=t g & A anf e
(o) wa Ht Wy wwwET A OWwd-

ASEAN (3R & FEAE 9K 59
(d) =R F gd-ud FoaliE ()

AT (WY ) WE A

GRS-U-EDF - A
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149, Fa #HEF 2016 3 59 9eat it wifg &

150.

s v, faeafetas 2ot =1 e aw A

1, Y T
2, HF

3, oz fem
4, 14

= B ™ g W v 5 owEE e
<l .

{(a) 1,2 3,4
B 1.3, 24

{c) 4,3,

Id

1

@ 4,3 1,2
T AENE ggAe Aifa 2016 1 T
o, effar s g s wdf 2 7

{(a) TR TR TR o T 2T
AT WAl HuET

s F1 =aE T, T AfE A
T Al e W A

G ol o o o - 1 R
T, TEET S qrir =t it

14T

(c)

foref AT St U T
Taemg g e o=y T =R

(d)



146,

147.

148.

Which one of the lollowing statcments
about Fatehpur Sikri is NO'T correct 7

(a)

It was located on the direct road to
Ajmicr

Akbar commussioned the building
of & marble tomb for Sheikh Salim
Chisti nexl W lhe Friday mosque
ar Fatchpur Sikr

(h)

The archaed gatoway or Bulund
Darwarza  was to  remind
visitors of the Mughal victory in
Ciugaral

{c)

rmcan|

(dy In 13E3, the capital of the Mughal
cmperor shifted from Fatehpur Siked

1o el

Which ome of the following cities hosted
the 3rd World Trauma Congress recently 7

{a) New Delhi
(b) Dacca

(¢} Singapore
(dy Bangkok

Which one of the [ollowing is NOT
one of the objectives of Act East Policy 7

{2} To promote cconomic cooperation,
cultural ties and develop strategic
relationship with countries in the
Asiy-Pocific region

(b

To promote peace and amity with the
neighbounng countries of Asia

To  place emphasis. on  India-
ASEAN cooperation in  India’s
domestic agenda

{d)

To provide enhanced conmeclivily
to the North East of India

43

14%,

Arranpge the following countries in
ascending order on the bagis of the total
medals eamed by them in Rio Olympic
2006 :

[. United States
2. China

Cireat Britain

Lus

4, Russia

Select the correct answer
conde given below ;

nsing  the

(a) 1,2,3,4

(b} 1,3,2,4

{c) 4,3,2.1

1510,

(dy 4,3,1,2

Which one of the following is WOT an
objective ol the National Civil Aviation
Policy 2016 Y

(a) Establish an integrated eco-sysiem
which will lead to significant growth
of civil aviation sector

(b} To promote tourism, increase emp-

loviment gnd lead to a balancod

regional prowth

Ensure safety, security and sustaina-
bility of all sectors through the use
of technology

(d} Enhance regional conncctivity
through fiscal support and infra-
atructure development
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 'O DO 50

T.B.C. : GR5-U-EDF : Test Booklet Series
TEST BOOKLET
GENERAL ABILITY TEST
Time Allowed : Two Hours and Thirty Minutes o Maoximum Marks ; 600
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

10.

CHECKE THAT THIS TEST BOOELET DOES NOT HAVE ANY UNPRINTED OR TORN (IR
MISSING PAGES OR ITEMS. ETC. IF 80, GET IT REPLACED BY A C'G’--LPI_ETF' TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepincy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejeclion.

You have to enter your Roll Number on the Test
Hooklet in the Box provided alengside. DO NOT
write anvthing efse on the Test Booklet :

This Test Booklet contains 150 items {questions) in twe purls | PART - A and PART — B. Fack
ttem i PART — B is printed both in Hindi and English, Bach itom comprises [our respotises
fanswers}), You will select the response which vou want to mark on the Answer Sheet. In case you
feel that there is more than one correct response, mark the response which vou consider the best.
In any case, choose ONLY ONE response tor cach item.

You have to mark all yvour responses @NLY on the scparate Answer Sheet provided. See directions
m the Answer Sheel.

All items carry equal marks,

. Before you proceed to mark in the Answer Sheel the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Shect as per nstructions senl to you with your
Addmission Certificate.

After vou have completed filling in all your responses on the Answer Sheet and the examimalion has
concluded, you should hand over to the Invigilator enly the Answer Sheet, You arc permitied o take
away with you the Test Booklet.

Sheers for ronpgh work are appended in the Test Baoklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBIECTIVE TYPL QUESTION PATERS,

(i} There are four altematives for the snswer to every question, For cach guestion for which
a wrong answer has been given by the eandidate, ome-third of the marks assigned to that
question will be deducted as penalty.

(i) If 2 candidate gives more than one answer, it will be eated as 2 wrong answer cven if one
of the given answers happens lo be correct and there will be same penalty as above [0 that
queslion.

(i) Ifa guestion is lefl blank, i.e, no answer is given by the candidate, there will be no penalty
for thal question.

Do NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD T DO 50
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